Calcular Porcientos (C)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $1,303.00 es
$651.50?

- ¢Qué porciento de $9,884.00 es
$9,884.00?

- ¢Qué porciento de $2,586.00 es
$646.50?

- ¢Qué porciento de $6,076.00 es
$6,076.00?

- ;Qué porciento de $5,733.00 es
$1,433.25?

10.

. ¢Qué porciento de $8,051.00 es

$4,025.507

;Qué porciento de $5,310.00 es
$1,327.50?

. ¢Qué porciento de $8,566.00 es

$8,566.007

;Qué porciento de $4,376.00 es
$4,376.00?

. Qué porciento de $4,077.00 es
$1,019.25?
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Calcular Porcientos (C) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $1,303.00 es
$651.50?
50%

- ¢Qué porciento de $9,884.00 es
$9,884.00?
100%

- ¢Qué porciento de $2,586.00 es
$646.50?
25%

- ¢Qué porciento de $6,076.00 es
$6,076.00?
100%

- ;Qué porciento de $5,733.00 es
$1,433.25?
25%

10.

. ¢Qué porciento de $8,051.00 es

$4,025.507
50%

;Qué porciento de $5,310.00 es
$1,327.50?
25%

. ¢Qué porciento de $8,566.00 es

$8,566.007
100%

;Qué porciento de $4,376.00 es
$4,376.00?
100%

. Qué porciento de $4,077.00 es
$1,019.25?
25%
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